QeLollI

iranmoshavere.com

I
435

M

435A

pIT g = 1 Solgils ol

R R R R R R R R O RO R R B e o A A

AR A R I R R A R R A AR A R R R R R R

d..t.nj:-‘-r.d.ﬂ
AFIYIA

g g £l CSlan sg0 pilal SLELH S
(o3 s plel

Al el 8 g
S8 g SRR e 2y

255 Pl e Bt

[ WWarF Jle= Jato h,gl.i J-Gljluwli.éjlf Sloo 50 59948 GP}T ]

[ ol oS = T ]

..... 2 fur T, Fulfi® Py .if:ﬁ
5 ¥ =5

A0 IR, ]

e e e e

OVl by lads g Sl o lnial Slan e

apleia U | ol 31| Jgen aliad sl Hlga kg
T Ll T PO L | L S PR L]
e PR P T s il ) aole cwingd
Vo " fa e ala e ile \rﬂhu:lh;'_ e 4 Lﬂu. v
(e e 3 53 bl e bl BT e
ra YE Fa 0 e 5 g g e gl o il JL..1 IR [P ) R B 1 e W) ¥

55 ke 503 gl o
i Yl Ol e 31 sslazwl

e ity e e oot b g e el ol e LI ke el e e e Tl g S Ly T s




QeLollI

iranmoshavere.com

A ET 435A (Y- o) jlel e

i gell) it g gk 1)

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

1-  Working on the assembly line was -——--- work because I did the same thing hour after
hour.
1) efficacious 2) monotonous 3) momentous 4} erroneous

2-  People are guilty of -———--- when they make judgments before they know all of the facts.
1) illusion 2) arrogance 3) avarice 4) prejudice

3-  Justin -—- himself from the embarrassing sitnation by pretending he had to make a
telephone call.
1) extricated 2) extracted 3) exposed 4) expelled

4-  He was accused of manipulating the financial records to cover his ———-.
1) suspicion 2} scrutiny 3) fraud 4) paradox

5-  Since the jungle was -—------, we had to find an alternate route to the village.
1) permanent 2) vulnerable 3) redundant 4) impenetrable

6- Management refused to ----——- the union’s demands, so a sirike cosily to both sides
occurred.
1) capitulate to 2) withdraw from  3) impose on 4) grump about

7-  We had nothing in common, but despite our --———-- backgrounds and interests, my new
roommate and I became good friends by the end of the semester.
1) comprehensive 2} conscious 3) heterogeneous 4) haphazard

8-  Megan’s foreboding about going to class turned out to be -———- as the instructor gave a
surprise test for which she was completely unprepared.
1) qualified 2) justified 3) perplexed 4) wholehearted

9-  If she had known how much of an --———-- her student debt would be, she would have
found a different way to finance her education.
1) apphication 2) encumbrance 3) immunity 4) optimism

10- The mechanic examined the engine carefully but said he was not able to —--—- - the
cause of the prohlem.
1) pinpomnt 2) derive 3) acquire 4) escalate

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3). or (4) best fits
| each s pace. Then mark the correct choice on your answer sheet.

Horticulture has a very long history. The study and science of horticulture dates all the
way back to the times of Cyrus the Great of ancient Persia, and has been going on
([ E— . with present-day horticulturists such as Freeman S. Howlett and Luther
Burbank. The practice of horticulture can be retraced for (12) ==eemmemx . The cultivation
of taro and yam in Papua New Guinea dates back (13) —--—-——-- at least 69506440
cal BP, The origins of horticulture (14) ----m-eee i the transition of human
communities from nomadic hunter-gatherers to  sedentary  or  semi-sedentary
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horticultural communities, (15) —=—-—-—- a variety of crops on a small scale around
their dwellings or in specialized plots visited occasionally during migrations from one
area to the next.

11- 1)ever since 2) yet 3) that far 4} still
12- 1) many thousands years 2) many thousands of vears
3) years of many thousands 4) many vears of thousands
13- 1) from 2) for 3)in 4)to
14- 1) are laid 2) lay 3) lie 4) are lying
15 1) cultivating 2) cultivated 3) that cultivated 4) to cultivate

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
chaice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet

PASSAGE 1:
Constructing Means

In the classroom. the student is confronted with several notions of mean. and thus a
pertinent question that an attentive student could pose is: “The word mean appears in all
these concepts, so what 1s actually a mean?”

In this short article, I revisit Kolmogorov's axiomatic view of the mean, which unifies all
these concepts of mean, among others. While Kolmogorov's axioms of probability are
widely known (DeGroot and Schervish 2011, sec. 1.5). it is perhaps less well known that in
an often-forgotten note, Kolmogorov also proposed an axiomatic construction for what a
unifying concept of mean should be (Kolmogorov 1930). Let x=(x,,....x, )and let 1 denote
a vector of ones. Formally. a “regular (type of) mean”™ (I follow the terminology of the
English translation in Tikhomirov et al. (1991, p. 144).) is a mapM: E" — [, which obeys
the following axioms:

Al. M(x) i1s continuous and increasing in each variable.

A2 M(x) 1s a symmetric function.

A3. Mix1,)=x, that is. the mean of repeated data equals the repeated value.

A4. The mean of the combined sample, x, remains unchanged if a part of the sample is

replaced by its corresponding mean, m=M(x,,....x, ).

16- The student is confronted with different notions of ——--———- .

1} probability 2) means 3) samples 4) statistics
17- Kolmogorov provided axioms in --——--—-—- -

1) 1920 231991 3) 1930 4) 1912
18- The word “pertinent” in line 2 means --—--—-—---- A

1) head 2) easy 3) perfect 4) related
19- The function M(x) for constructing means is ————------ -

1) odd 2) even 3) symmetric 4) complex
20- What is well-known?

1) Probability axioms 2) Mean axioms

3) Law axioms 4) Unlity axioms
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PASSAGE 2:
Deviation

Deviation is a basic concept in probability and statistics. We shall use the word “deviation” to mean
“absolute difference ™ Thus, the deviation between two numbers a and b is |a—b/|. Likewise, the
deviation of each number a and b from their mid-point or their average (a + b)/2, is half the absolute
difference between them, or [a—b|/2. Given n = 2 numbers, we seek to find a single measure of
spread that combines all possible pairwise deviations in a suitable way. The most widespread notion
of this combined deviation is the standard dewviation (SD); and a distant second is the mean
(absolute) deviation (MD). What exactly are these quantities? Why is the former so popular relative
to the latter and among many other notions of deviations?

To answer these questions, we must first address another basic question: What quantity do we
wish to measure the deviations from? Such a quantity is often a measure of center. Again, there are
several choices for a measure of center—the most common ones are the mean (or arithmetic mean)
and the median. Other choices for the measure of center (such as the mode or the geometric mean or
the harmonic mean) may be more appropriate in certain special situations. But we would not
consider them in this article. We emphasize that the interpretation of any particular choice of spread
goes hand in hand with the corresponding choice of center from which such a spread 15 measured

21- The deviation between 5 and -2 is -———------ —

1)7 2)3 3) -7 4) -3
22- How much is the deviation of each of a and b from their average?

1) |a=b]| 2) |a-b|/2 3)2|a-b| 4)|a+b|
23-  Which is the most common measure for a center of data?

1) Mode 2) Median 3) Mean 4) Geometric mean
24-  Any particular choice of spread depends on —————-———,

1) data 2) choice of center

3) size of data 4) kind of data
25-  The phrase “widespread” in paragraph 1 means the -——---cceeeeee,

1} common 2) deviated 3) largest 4) farthest
PASSAGE 3:
Y 2
X and S

1 < —
—E X=X where
n=1 (%Xi-%)

n
— A o y
We define sample mean Xtm—Zhj and sample variance 2 =
n= .
1=1 i=1

{X|.X;5..... X} comprises a random sample from some population. It is well known that X and

2 are independent if the population is normally distributed. Now. naturally we can ask a question:

Are X and Szindapendent without the assumption of normality?

The answer to the above question is “No” according to the following theorem found in Lukacs
(1942).

Theorem: It the variance (or second moment) of a population distribution exists, then a
necessary and suflicient condition for the normality of the population distribution is that X and

S are mutually independent.
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Remark: That the normality is a necessary condition for the independence between Xand §°
was first proved by Geary (1936) using a mathematical tool provided by R. A. Fisher, but the proof
in Lukacs (1942} 1s easier to understand.

26- For a random sample,l’_i and S° are always —-—--mmmeee,

1) independent 2) uncorrelated

3) uncorrelated under normality 4) dependent
27- Who proved the independence of X and S% under normality for the first time?

1) Geary 2) Fisher 3) Lukas 4) Pearson
28-  Whose proof is easier?

1) Geary’s 2) Fisher’s 3) Pearson’s 4) Lukacs’
29- A population is normal if and only if X and L T — —

1) uncorrelated 2) independent 3} equal 4) unequal
30- The word “comprises™ in line 2 means -—--——-—--— :

1) realizes 2) consists of 3) completes 4) agrees
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